13)

14)

15)

16)

17)

18)

19)

20)

21)

22)

23)

24)

1 1
54 ' 625

Y3

22 — —

X9

Y4 or

vz
x12

50 =1

Al2

ABIA2B-4 = ASB-1 or —A%-
ANBH-IN-2 = H5N4 or N4
H-4N6H-1N-2 = H-5N4 or 05

1
-2Q0P3Q1Q-6 P-4 =P-3Q-5 —_
P-2Q0P3Q1Q6 P-4 =P-3Q or P3Q5

1)

2)

4)

7)

10)

11)

12)

43 64

343

-1 1

27 27

32 =9

35 or243

X9

-6
Y-© or Ve

2A+3B

62 =36

13)

14)

15)

16)

20)

21)

22)

23)

24)

B-1 or

X8

31 = ——

B6A

Y4

A® or

Y-20 or

X2Y-2X4Y5 = X6Y3

33A3-3B = 33A-3B

55-3525-1R-6 R-3 = R-45-2
R°S-3S52S-1R-6 R-3 = R4S OrR432
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1C

R T
2) 43=64

3) XA-B

5) YDG

6) (8A3F = 64A6

7) X4Xs __ XO
Y3 Y3

or X9Y-3

8) X3IX1X5Yy-4y2y=2=x3y-4
9) -(14)(14) =-196

10) (-15)(-15) = 225

m | . po 2 |xs6=
7 2 8

56 1 56 1 ., 5 3
17 1 2 1 8
8-28D =21
-8 -8
28D=13 D=-oo
28

12) [1.1-.086 = 2.4B] x 1000 = 1100 - 86 = 2400B

_ 1014 _ 169

= Bz o =
1014 = 2400B 5200 - 200

13)

14)

16)

17)

18)

19)

20)

3r2— =1 M- | x10=
5 2 10

30+22=5M-3
55 = 5M
=M

[.388 = 1.3 + .3Q] x 1000
388 = 1300 + 300Q
912 1

-912 = 300 = =B
4 Q 300 25

6A (2A - B)
3B (5AB2 + 6A - 7B)
-13X2 + 26X - 52
X3Y + X5

[15-6+82+2+4]x | 92- 102

[15-6+64+2+4]x|81-100|
[15-6+32+4]x 19
[15-6+8]x19=17x 19 = 323

[4x8-5+212{3-6-72x9 =
[32-5+212-|3-6-49x9| =
[292-|3 -6 - 441| =

841 - 444 = 397

7)

10)

11)

12)

—y

99-3 = g6

835

5
9M-7N5 or &
M7

1
1p-18 of ——
R-1P-13 or RPT3

8
3 .5 Rr="]|xe0=
476 10
45 - 50R = 42
-50R = -3
R =3/50
[5Y + .3 = .002] x 1000 = 500Y + 300 = 2

500Y = -298
Y =-298/500
=-149/250

13)

20)

Bt Ko e | %121
3 12 4

44 -5K = 15
5K = 29
K =29/5 =5 4/5

[1.203H + .9 = -.6] x 1000
1 203H + 900 = -600

1 203H = -1500
H = -1500/1203 = -1 99/401

7X(8 - 7A - 4X)

4X(1 - 4X2)

8X3(X - 5 + 3X2) = 8X4 - 40X3 + 24X5
15X3Y + 20X3Y2 - 5X4Y4

[(13)2 - 9] = 20 =

(169-9) + 20 =
160 +20=8

[7-2]x11-169 =
5x11-169 =

55-169=-114
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1E 2A
2y . Xy2 X9(2X-Y
1 2 1 3 1) correct 10) 2X2Y - XY2 _ X9(2X-Y) _ oX - Y
1) —— 18) |12 =2—+1—"_A|x60= XY xr
9 3 4 5
5 9 8
) —— I:T='T+T ]X60= 2) correct
108
100 = -135 + 96A 1y 84X B+4X
235 = 96A ) X+2 X+2  X+2
3) 4A+B =
) RiFieRRHE 3) incorrect
_ X2 . 3X N 6
4) 1110 =111 = 11 X2+2X+7 X242X+7 X242X+7
14) [3X - 1.6 =.34] x 100
1oy B(X) 43 _ 83X+ 12
300X - 160 = 34 ) 4(X) @x - aX
5) 34D 300X = 194
X = 194/300 = 97/150 4) incorrect = 2
6) 56
P (7 _ (X3 _ 7Y-3X
15) M(9 - 10M= + 19M) 5 DX _KEX+N) 19) Wax~ ay = T axy
7) B11C-2 X X
o1z 16) -36M - 27M2 =
8) C*°D IM(-4 - 3M)
2 Y +2
6) Y¢2Y=¥(¥ )=Y+2 1) (A)A_(B)B=A2-BZ
9) 79/16 (AB - (B)A AB
17) XA4 + 2X2A4 - A5
10) 10,000
7) 4X;—4Y =A1X;Y) = X 4+ 2Y
18) A3B - 4A2B2 +2AB2 15) BX(Y+1) , 2X(Y-1) _
1) el o | k4G F-OV+1) Y+0)(Y-1)
2 9 18
3XY + 38X +2XY-2X _ 5XY +X
-99Y -4 =5 19) -19-|-14|+3s= 12AB + 16A2_ 4A(3B + 4A) _ (Y-1)(Y+1) (Y-1)(Y+1)
99Y =9 8) = =3B + 4A
33+36=3 4A AA
Y =-1/11
18] e om VR I0 =T B =2 20) 15+49-7+2=59 g P H20KVZ_SNX+ XD X4 axZ g B, AS _Ris
5YZ 7 Tz T AT T
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